{
( ) (last = 0)

{
* = first; last—>next = (value,
last—>next);
(current != 0) last = last—>next;
}
(index——==0)
current—>value; first = (value, first);
} last = first;
current = current—>next; }
} }
-1;
} = 0
{ _
i ( ) * = first;
{ =0,
* = first;
=0; (current = 0)
{
(current 1= 0) current = current—>next;
length = length + 1;
(current—>value == val)
length;
index; }
}
current = current—>next; i 0
index = index + 1; {
} first;
-1 first = last = 0;
} }
(
( )
{ {
= O, * - O,
= first; * = first;
(current 1= 0 && index—-) (current = 0 && index—— > 0)
previous = current; prev = current;
current = current—>next; current = current—>next;
} }
* = current;
(prev ==0)
(victim == 0)
first = (value, first);
-1;
} (last == 0)
(previous = 0) last = first;
{ }
previous—>next = victim—>next; }
}
(victim == first)
{ prev—>next = (value,
first = first—>next; prev—>next);
} (current == 0)
(victim == last)
{ last = last—>next;
last = previous; }
} }
}

= victim—>value;
victim—>next = 0;
victim;

value;



* Linked_List

:: ( * ) o '
{ =(Linked_List & )
(src == 0) {
0; ( 1= &rhs)
{
(src—>value, (rhs);
clone(src—>next));
} * = first;
first = copy.first;
.(.Linked_List & ) copy.first = save_slot;
first = clone(rhs.first); last = copy.last;
copy.last = 0;
* = first;
* .
(current != 0) }
last = current; :: &
current = current—>next; ( i & o,
} Linked_List & )
} { _
* = | first;
(current = 0)
{
0s << current—>value << zendl;
current = current—>next;
}

0s;

}



